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909 53.7 76 12,7 67.7 18.9
913 =+ 32, B 4. 2
931 + 2 13
950 » 43
957 43 g
963 = 14
974 55.0 38 42.8 68.3 = 50.6
1,003 = 2 15. 1
1,008 = | 2 15, B 1130
1,010 = O il 3, f 16, - 1122
1,017 :FN B 18:47:35 58.6 55 46,3 72. 4 3975 55.0
1,022 = BLEE |R;55:48 53, 4 — 4h. | — 1GRS -

1,026 = H3
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HE B 2019401 HO1 8 (k)
. : LAE ":Aeq LJ’.Smax
N1 N2 N3 N4 N L jon & WECPNL
muwn | " | BW sy | mm | s
2 23 1 3] 29 T1.5 36. 8 34.6 30. 2 28.9 54.5 46. 3
R (Hi%E) ek
F5 A EE)MEsE AT h BEEIRER RERE L Lyas
Bf: o3 %) dB i dB dB dB
T, 060 T 9423 33, U v - TIoR
1,077 WA 19 34. 1 16.9 1417
], 087 fHie 20 - 301
1,089 Wi 20 59, 4 30.3 1371
1,098 % 20:14 56, 5 §7 19
1,101 WEg 20:18 34 15 — 5877 —
1,158 P 5¢ 1:23:23 16, 4 —
1, 166 Higgk 21:32:55 54 14, @ |5 147
1,183 K% 21:54:12 24.1 90 42.4 70.5 B 4948 50.9
1,233 B 22:48:23 55.8 62 30,5 70.6 k4= 5154 52.7
1,235 W% 22:51:39 57.7 33 40,9 68.6 LZEimi 5154 53. 4
1,241 HiZE 23:00:05 54.8 29 40,8 65.5 E2EiHiE e 50. 8
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HIER4% : HN02 /N m
MER ;20194018028 (K)

i,uz Lm- Ls ;
1 3 L 3 o CP
N N2 N N4 N Ak den B 5% ers | vo-m WECPNL
2 23 5 2| 32 73.6 39.3 39.1 36. 1 28.8 59.2 51.1
Tk (Hi%) e -re52)
BE RN GBEEMEEL CoIAh SHEREN MERE L, SIREE _ 7
B4y ED dB 19_ _dB dB dB
1T T T3 0:37:56 52.4 39 38.8 63.9 EZ5dng — 48. 0
53 EE  0:56:13 53.8 27 38.5 64. 4 = 2EWiE —_ 50.1
362 B 7:18:12 57.8 60 43.0 7.7 2% — 53.9
423 # B §:]5:38 50,9 42,9 Bl -
426 Hi%E  8:18:20 53.4 41 42. 4 66. 3 == 50.2
433 = Wi 81243 49,1 — 43, f — 385 —
438 ¢ g+ 5].2 — 42,7 — —
456 8:5 58.2 B4 43. 7 73. 4 54.1
458 = 8: 53. 8 15, |
461 = 47,4
465 = 13. 4
483 = 4. 0
489 39 44.3 67.8 51.9
500 = [1{s 16, 0 77,0 58,8
all = = 45. € — — —
512 15,0 T 54
520 = o 14.49 7.3 654
523 15,1 1341
524 # 19 171 72. 4 5
526 47 3 ~ 4
528 = o 17. 3 R fE
531 = 50,1 58 14, 5 72.5 ~ 4799 54.8
532 = 0.9 — i - o7 167
535 56. 5 6 46. 1 61.9  EZeilid = 5.1
536 = 9.7 16. 1 72.2 ~1 —_ 5.4
547 = . ) R e 3
550 = 54.3 i <)
354 53, 4 <1
561 = . o))
567 = ; i EE
570 = 13 g
877 * HigE 1 17 RERE
580 =« L1181 5l 11: 4 ~\
598 = |_§J_Z-.'E' a 44 /5. 2 o 1) 51.3
604 i 38 53.6 80 2.7 0.0  pEkE 51.0
613 = LS 57. } 16 14 64 i 53.3
623 = e 14, 1 ~ )
633 = g 58 5 16. 7 64, 4 ~ 4 3.
637 - e 53. 7 T 43 — b 2=l S614
643 = i 2 1 14, 4 . 4 2788 5
647 = 3853 5 15. 8 PRLE 7456
650 Higg 58.1 36 46. 8 68. 8 B R 9236 53.2
660 = {1183 14, 7 72.4 i 278H 53. 4
666 = Bi%g 14. 8 70.2 ~ 2788 52.7
684 ige 55.9 78 43.9 70.9 3742 2.0
717 Higg 60. 6 41 45.0 122 7136 56. 1
725 # fiip 5B, ( 32 13.9 6.9 4451 61. 7
734 Hi5g 64.7 16 44.7 73.3 4474 61.3
738 = g 45007 .5 15 14. 5 T4 — an, Y
745 % 14:27:18 6.5 T 42.5 70.7 = 52.2
748 - B 14:30:59 56. 5 15. 0 1641
755 61.1 27 45.7 7.5 = 57.2
771 R 66. 9 25 44.9 77.9 — 64.0
774 55.4 73 43.5 70.3 4621 51.7
791 = 55.¢ 16, & il
821 = 51 — 12, 4 — — —
858 64, 3 23 42.9 4.7 30584 61,1
864 59.7 49 47.4 73.0 5124 56. 1
904 59.1 58 43.8 70.2 — 52.6
924 59.0 48 45.2 71.5 4599 54.6
939 = 50, ¢ 12,2 5186
947 = 4 i5. 2 S
966 53.5 53 41.7 67.5 5243 50.3
967 0.3 jd 2 1215
77 59.7 27 42,7 69.5 4976 b5.2
978 58.6 53 42,7 Tl 2 3202 53.9
982 = 547 {6 ¢
989 - 32 1 6. 3
1,002 55.8 63 45.0 70.1 = 52.1
1,018 60.3 68 44.8 T 8156 55.4
1,027 BE 19:08:12 54.7 75 43.2 70.5 — 51.8
1,043 = BIE 18928034 58 a9 4.7 7l — 53,2

1,046 = B 1G30: 50 54, 9 15,1 ST 1527
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NERL : N2 B/ NE8H
HIER  : 20194801 H028 ()

L Leq Lasuax: | wopown
N1 N2 | N3 N4 L WECPNL
I Nlmen| S | mm s | mm |
2 23 | 5 2 32 | 73.6 ] 39.3 | 39.1 36.1 | 28.8 | 59.2 | 51.1
iR (Hige) v - ey
Fe Rl (MEEE)MMMERERR] U -0uATh RERERER] REERE L HIRARER Lase
o B4y FD dB b dB dB dB
T,054 B 10:12:36 547 6 qI.2 60,4 1502 1.2
1, 085 W% 19:54:17 59.5 38 45.3 70. 4 7646 54.6
1,081 112:26 54. 4 72 42.2 69. 8 4326 51.2
1,000 = 0:17:48 17
1,002 = 1:02 55, 7 46, 7 511
1,004 = - 106, F - 70 -
1,007 6. 8 — —
1,102 517 2, 2
1,109 17.9 11. 7
1,124 53.2 38 41.0 65. 3 3431 49.5
1,138 {7.5 1.1
1,142 = 18,1 12.1
1,159 = 44,4 $1.4
1,202 = 43,0
1,204 59.0 58 43.0 T — 54. 1
1,208 55.3 29 41.8 66. 3 — 51.7
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REBL : HNO2 /%85
BIEHB : 20194801 H038 (K)

. L Leq L jsusx
N1 N2 N3 N4 N Lgen S WECPNL
mmrs | " | BRI 4K Bl | v
3 23 8 2 36 72.9 39.1 38.8 26. 7 57.6 50. 5

R UER) e

Ty Bl (ER)REARRZ]  ©-huaTn HEREREN] REERE L L e
F: 47 fb dB b __dB dB dB
5 T 0:18:50 0.4 1 38.8 62.2 — 16.1
13 * Wi 0:21:27 17.2 i11.2
38 % 0:40:00 50.6 38 38.7 62.2 — 46.4
62 Hi%¢  1:08:57 50.8 49 38.2 64.2 == 47.3
a1 - WS 7109140 18. 1 41.7 739
432 WEE  8:05:20 53. 4 45 43. 4 67.2 50.7
443 # H%  8117:54 S0, 4 e 437 — 3974 —
460 8: 52.2 71 41.7 67.9 4033 49,3
482 * 20, B £3. o 1788 =
494 = 17. 9 42.8
502 = 52,3 2. 8 4T
503 19, 2 12, 8
508 57.0 79 41.0 73.0 4328 94,1
509 HE 9:36:52 61.2 36 41.0 74.2 7214 38
510 # % 01380 16, 6 = 1.0 — 3489
511 = I 6138044 i8. 8 41,0 3680
512 M 9:40:31 53.1 53 42. 7 B7.7 5881 50. 5
521 91. 2 41 42. 8 67.2 4563 50.8
526 15, 2 11. 8
527 55. 1 61 41.8 69. 8 8495 51.9
535 56.6 55 40.9 69.9 8274 52.5
537 53.9 52 42.5 69,3 — 52:1
539 64.0 7 47.3 68.1 4203 59. 7
543 54. 4 40 43.9 66.9 6536 50.9
553 kK 64.3 24 44,0 75.7 1622 1.9
561 56.5 45 44, 9 69,5 — 53.0
566 ¥ 53.7 16, 0 732
568 41,4
569 ¢ 7 444
577 = 7 13. 6
581 = 7, 9 — 45, 7 —_ —
609 ¥ 300 42 K
613 53.5 67 42. 8 69. 0 8311 50.7
625 * af; | 46, 5
640 51,9 43.3 2870
663 59.0 39 46. 0 70.0 2826 5.1
781 + 55. 4 18 1
846 55.9 35 45.9 66. 9 4387 51.4
874 63.2 62 47.0 76.5 7876 58.6
894 * 36, 7 — 19. 6 — 2938 —
897 = 34,6 7.5 A227
933 = 53. 6 15 4
953 = ril } 51.9 45.0
962 + R 17:19:13 65.3 1 43.2 71.9 615
963 HE 17:20:09 55.7 19 45.2 65.7 = 52.9
978 W 17:38:42 59. 4 69 43.3 74.6 3356 56. 2
1,010 = LS 18:11:45 53.9 44. 4 3050
1,018 W% 18:24:26 85. 6 49 44.5 69.6 5359 52.7
1,021 = HE®S  18:26:38 55, 4 45, 7
1,082 HE 18:41:29 55.3 62 43.2 89, 2 — 51.2
1,039 W3 18:48:31 96. 2 11 45.1 62. 4 = 52.0
1,042 % 18:50:40 58.9 53 45.9 T2.1 = 54.8
1,062 = Hi%E 18150147 55.3 16. 0 1563
1,066 + 3 1S 52,2 12, 8 1409
1,077 56. 1 55 43. 4 69.9 == 52.5
1,078 + 32,2 ~ 16, ] - — —
1,084 * 46, 3 5329
1,085 54.6 62 44.6 69.0 2119 51.1
1, 104 , 58.9 73 42.2 73.8 4770 55.2
1,110 I 20:10:11 56.9 48 42.1 69.9 3091 53.0
1,113 W3 20:12:32 5.6 52 12.8 67.7 4041 50,5
1,114 = A 20014108 59..6 46, 3 1858
1,120 WE 20:22:4] 54.5 17 43.3 63.5 — 51.2
1,124 55.9 81 43.2 7.3 == 52.3
1,127 6.6 49 45.4 69.5 4674 52.6
1,151 = 23.2 13, 4 1041
1,171+ 2.4 13. & 447
1,181 = I 13 4
1,192 = 32. 14, 1 [* 4R 3180
1,239 54.3 52 42.2 67.6  EZ=MiB 4770 50. 4
1, 251 87.3 14 43. 6 65.4 EZ=i@iB - 53.9
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MERL : HNO2 8/N3EH R
HEB  : 20194E01H04R8 (&)

Ly L seq L hsasx
L gen WECPNL
mmsy | Bm | #F | wm |-

0 7 1 0 8| 72.6 | 32.3 | 82.0 | 33.5 — 50.1 | 42.1

N1 N2 N3 N4 N

Bk (E) Y -8
T fh (EE) MR -k RERERER . REERE L HIAREE Lpeq
EL oy B di i dB

dB dB

7=
69 -+
388 +
398 =
517 +
533 =
543 =
570
582 o)
594
597
614
627
647 =
655 *
688 =+
696
699
716
717
740 +
744 ¢
748 *
764 *
770 *
800
871 +
872
921 +
940
1,011 =+
1,024 =+
1,029
1,100 ek
1,110
1,129
1
1
1

t
I
15, 1
+

a ] = e

g — 17.5

1 63 44,
55.4 70 44,

6 52 43.
al, 2 4. 6
200 11. 6 . 1045
55.9 50 44,
51,9 43,6

2,2 — 43,9 — el — —

8384 53.6
3168 51.7
— 52.6

SR R Y
-

Lo

® e >

51.6

o om oo
oy
o
(=1}
BB
f#
w
=3
o
o

6.5 H 13. 2
4. 3

.o

l
56.5 15 16.2 65.5 WEps
67. 1

] 20 14, 1 77.8 -
9. 4 14, {

1 — A5 7 — | —

61.1 19

57.1 49

63.6 24 7478 60.0
151
154
, 160

1, 163

1, 206

1,214

1,252

1, 265

1,269

R R R EENEE I
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RHERL : HNOZ 48/ 38
RMEH : 201948018058 (4)

N1 N2 | N3 N4 N Lie

7 L
L, -] ASmax | WECPNL
mue | 0 | B | v5 | wmE |-

0 20 2 0 22 | 71.1] 35.1] 37.3 | 31.9 == 57.6 | 44.7

R (W) -7ER

FE B/ R MSEL U0 RERIRER] MEERE L, HIRREE Lseq
4y dB i dB dB dB

B S EUUISY B e 1o -

IR

344
398
400
412
414
432
444
460 =
468
472
480
492 *
495
496
498
502
504
514
515
523
524
529 =#
532 [N
536
548 =
556 #
561
570
620
626 +
627 =
643 #
645
647
652
660 =
661 =+
666
674 +
701 *
752
T8 ¥
784
786
791
796
800
828
835
838
842
860
B62 = 1 H
865 T 30 46.
870 HA 16:59:59 60. 1 55 45,
905 i 3 58 45,
908 + 3
914
920
944 =
946 ¢
971 =#
975 #
980 =+
982
985 =«
1,005 =
1,007 =
1,009 =
1,022
1,025 «
1,028 =
1, 047

) EYIT
a4 4 17. 8

I

57.5 43 45.
3.5 418,

54.4

n
o
o

9
I
a3 16. 1
58.4 34 46. 8 70.9
L}
72 46.0
]
L}

7
57.7 35 46.

54.0

. % ®

55.4 63

61.4 43 72.3 HERE 7603 56.0
3.2 46.3 - E 2 il i 1545
3 F2E M8 30415
} 67.2 o1 al,.2
1 70.7  kzZEibif 7076 52.4
4.2 BEf= 3393
25 44.3 65. 3 e — 51.3
45, 1 ~

O =1 B T e

TL4 ~ 1} 2888
b 2230 i
4, 9.9 35 6170 51.8
3. 6 15.2 Rl 4017
39.6 18 48.4 9.0 Bkl 8694 56. 4
TP 13, REE
6. 1 RELE 5026

33.8 28 43.7 65.0  REME 4254 50.5
(T 37 5 R T 3 Y

1]
Yy
=1
g

1.5 - 13 = - o _ _
56. 4 49 4.7 69.4  _LZEilmiE 5116 52.5
59.9 46 45.2 2.3 B — 55.6
55.4 10 45.3 63. 1 ] 3631 53.1

|

PR T I

_ 54.2
4136 54. 7
9325 53.0

CEl = =
-3
(]

36,6 68 43,
57.6 61 16

— 52.4
6036 54.3
177l

W
=
[

54.9 % 445 709
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MERL : HNOZ B/ ERF
HEB - 2019401H05H8 (1)

| Ly Ly, L
N1 N2 | N3 N4 N : Lge ox! ASmax | WECPNL
. muws | | BB | v | mE | e
0 20 | 2 0 22 | 7.1 ] 35.1] 37.3 ] 31.9| — | 57.6 [ 44.7
ek (i3 ek
Ba Bob (M) DusssEs b -0uaTn RERERRM] MEERE L. Exsa
IRg oy §0 dB i dB dB dB
T 1,062 * L 20:11: 3¢ o0, 4 = Tion
1, 054 20014 L] 1551
1,062 34,7 ! 5175
1,068 = 20:28 741
1,091 20:55
1,102 =« 21 17 — —
1,117 e 4 1 ] — — -
1,127 = HEs 201:31:20 ad 3 0. 8§ 4
1,132 Hk )~ BEE 21:37:36 23.3 43 42.7 66. 3 — 50.0
1,134 =+ WEE 21:39:06 54, 2 1. 8 b= 223 i
1,138 = HE 21:41:22 3 7.0 F 2= lid
1, 140 = HE 2]:42:2 Ti 0 b 22 8
1,148 # % 21:38:15 5 !
1,190 = HE 22:31:43 511 £, € |
1,202 s e 22 : i — k
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MERL « HNOZ2 48/58 R
HIEE : 20194E018068 (H)

Ly Ljeq L pspax |y
| N L
N1 N2 N3 N4 N e den U 5% | vo-ws WECPNL
0 9 4 0 13 70.9 32.7 32.5 33.9 — 56. 7 42.9
R ()¢ -8k
T hoh (EE) MR -0AT MERERER] O RFRRY L, HFRMEE Lpeq
RE: 57 50 dB i dB dB dB
1 = B 0028011 EE] i2. 0
2 & Fi3E  1:04:00 jo, 8 42, 7
3 = g a1 & 3088
4 = HLEE 53. 1 5. 0) 914
5 5.1 26 43.5 65.9 5707 51.8
6 50.7 .G - 4793 —
T # 4,4 = — — =
8 #* 0.1 4.0
9 = B 14. 2 1410
10 = 4.3 2147
11 = 4.0
12 = K 15. 5 72.6
13 55 43.0 69,3 6363 51
14 = 10 15, 5 12. 8 G
15 = —_— - 2245 e
16 40 46.0 69.0 7683 52.9
1T ¢ T 2
18 = i 3 o ) =
19 = 2 N9 1 347
20 = 50. 2 13.0 I %588
21 58. 4 6 45.0 62.9 Bl — 55. 1
22 = 66, 8 33. 8 79. 6 ~1 63, 7
23 55.8 59 70.0 4262 52.3
24 = 66. 6 7.4 1350 G3. 4
20 =* bb. 6
26 = 1 4 21 T &0, 2
271 = 19, 2 &
28 * a6 7 M ; 2
29 = 53, 1 13, 7
30 67.7 43 43.8 7.4 55.1
31 = 5 — 4, — —
32 = 50, 2
33 = 52. 3 -
34 5. B 12
35 = 19, 7 3 614
36 = 53.0 =027
37 65. 5 38 68. 1 3319 52.3
38 55.0 70 69.9 7101 51. 4
39 K 59.8 41 7l.6 4336 55.5
40 = 52, 1 —= = = —
41 514 1
42 53, & 15, 8 BGRS
43 59.7 23 43.2 66. 8 — 53.1
44 £ 3 [ s, 2 S
45 = 51,2 2.7
46 = 51.1 6. 1
4? - 4, 3 ='. 0 — 03
48 55.4 47 45.0 69.7 — 52.9
49 = 33,2 1. 2 1345
50 ¢ b 44 10
51 = 4. 3 311
52 66 43.3 70.0 — 51.8
533 = 33 4
54 4 28107 ]
35 foh HEE 21:45:27 20 42.4 63.8 3614 50.8

o
=3
o

v



